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2004-05 District Competition

Match #15

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups

1.  This type of rock forms in shallow marine environments where there is very little sediment delivered by rivers.  The caves of western Virginia, such as Luray Caverns, are formed in this type of rock, which is also widely used for gravel and to lower the acidity of agricultural soils.  Name the rock. 

ANSWER: _limestone_

2.  This island, if it were an independent country, would be the second most densely populated country in the world, after Bangladesh. It has 114 million inhabitants and is a bit over 51,000 square miles, which is a little smaller than North Carolina. To the northwest of this island lies Sumatra. What is this island of Indonesia that lends its name to a variety of coffee? 

answer: _Java_

3.  TWO ANSWERS REQUIRED. A "strong" verb in English is a verb where -- what two principal parts are different?

answer: _past_ tense or _preterite_ / _past participle_

4.  It is first stretched across a wooden frame called a stretcher and then coated with gesso, a glue-like white paint, before being painted on. What is the name of this heavy-duty fabric used for making sails and tents, and most importantly, by artists who use it to make paintings?

answer: _canvas_

5.  This process usually must start at least five years after the person dies, but that can be waived by the Pope, who can then start someone along its road. If the person was martyred, he or she is already halfway along, and needs only to intercede in one miracle. If the person was not, two miracles are required. What is this process by which a person becomes a saint in the Roman Catholic Church?

answer: _canonization_ (accept becoming a saint or equivalents before saint is mentioned)

6.  A zygote is a one-celled entity resulting from what process?

ANSWER: _fertilization_

7.  The American Family Association and Focus on the Family are launching a boycott of this Cincinnati-based company due to its support of gay-rights legislation. However, controversy is nothing new to this company, which has been accused of supporting Satanism due to its logo having thirteen stars and a moon. What is this company that sells us Pampers diapers and Ivory Soap?

answer: _Proctor & Gamble_ (prompt on PG)

8.  It deals with the Lost Generation of American expatriates who fight in France during World War I and criticizes their superficial lives. What is this Ernest Hemingway novel narrated by Jake Barnes? 

ANSWER: _ _The Sun Also Rises_ _ 

9.  THIS IS A COMPUTATION QUESTION. What is the tangent of the arcsine of three-fifths? {tan(arcsin(3/5))}

ANSWER: _3/4_

10.  This legislative body has the lowest quorum in the world -- only three members must be present to conduct business, although one of them has to be the Chancellor. Today, it has 677 members, although some are non-partisan, such as the judges who fulfill this body's purpose as the court of last appeal and the Anglican bishops who sit in it. What is this legislative body, the upper house of the United Kingdom's Parliament?

answer: _House of Lords_

11.  After winning the battle of Guandu in 200 AD against rival warlord Yuan Shao [yoo-AN SHOW], he was able to conquer all of northern China. However, his attempt to unify China was stopped at the Battle of Red Cliff in 208 AD by the combined forces of Liu Bei and Sun Quan. Who was this ruler of Wei [WAY] during the beginning of the period of the Three Kingdoms?

answer: _Cao Cao_ [tsow tsow]

12.  The horse latitudes occur around 30 degrees north and south latitude, where dry air descends from the upper atmosphere and winds are calm.  The major deserts of the world are located in this region.  At the equator are the doldrums, where winds are calm because of rising air, and rain forests are located here.  What is the name for the winds that occur between these calm regions, primarily around 15 degrees north and south?

ANSWER: trade winds

13.  This Virginian and George Mason University Law School professor was named as co-chair of the Iraq Intelligence Commission, which is expected to finish its report by March 2005. A scandal involving former Miss Virginia Tai Collins helped make him vulnerable in his 1994 Senate re-election bid, but the Republicans split between Oliver North and Marshall Coleman. Who is this former Virginia governor who served between 1982 and 1986, and eventually lost his Senate seat in 2000 to George Allen? 

answer: Charles "Chuck" _Robb_

14.  Some accounts have her trying to join the Argonauts but being turned back by Jason as she was a woman. She was the only woman in the hunt for the Calydonian Boar, and drew first blood, winning the boar's hide. Although she didn't really want to get married, Hippomenes was able to win her hand in marriage by using golden apples to beat -- what woman in a footrace?

answer: _Atalanta_ (do not accept Atlanta, that’s a city.)

15.  What literary character in Harper Lee's only novel says it's a sin to kill a mockingbird because they don't do anything except make music to enjoy? 

ANSWER: _ Atticus _ Finch 

Second period, 10 directed questions per team

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  In Buddhist tradition, how many "folds" are in the Noble Path, which include things such as Right Understanding, Right Action and Right Effort?

answer: _eight_

1B.  What Virginia Congressman announced he would not seek re-election after rumors surfaced that he had sought gay sex through a telephone service?

answer: Ed _Schrock_

2A.  The Defenestration of Prague was the beginning of -- what war that was ended by the Truce of Westphalia?

answer: _Thirty Years'_ War

2B.  Many people have heard the question, "What is so rare as a day in June?" but not everyone knows that it comes from a long poem, _The Vision of Sir Launfal_, written by what American poet? 

ANSWER: James Russell _ Lowell _ 

3A.  They were white and purple cylindrical beads ground from seashells and used for ceremony, decoration, and currency by North American Indians of the Northeast. By what name do we know them?

ANSWER: _ Wampum _

3B.  If iodine is lacking in the diet, this gland becomes enlarged to form a goiter. What gland found in the throat needs iodine in the diet?

ANSWER: _thyroid_

4A.  Rhinoviruses and coronaviruses are the most common causes of -- what annoying ailment?

answer: the common _cold_

4B.  THIS IS A COMPUTATION QUESTION. A jar has $4.20 in nickels and dimes.  It has twice as many nickels as dimes.  How many coins does it have?

ANSWER: _63_

5A.  THIS IS A COMPUTATION QUESTION. Two items are both selling for fourteen dollars.  One was marked down twenty percent, the other thirty percent.  What was their original price difference?

ANSWER: _$2.50_

5B.  The Ostend Manifesto of 1854 proposed to annex what territory to the United States?

answer: _Cuba_ 

6A.  What is the term for a perpendicular bisector of a regular polygon's side, drawn from the polygon's center?

ANSWER: _apothem_

6B.  THIS IS A COMPUTATION QUESTION. Two fair six-sided dice are cast.  What is the probability that the sum is greater than eight?

ANSWER: _10/36_ (accept 5/18 or equivalents)

7A.  In _A Tale of Two Cities_, the Vengeance plays what musical instrument as she leads the mob in storming the Bastille?

ANSWER: The _ drum _ 

7B.  The Gentlemen's Agreement was made between the US and -- what other country to eliminate immigration from that country? 

answer: _Japan_

8A.  Give the name for the numeral system that represents numbers using only zeroes and ones.

ANSWER: _binary_ or _base-two_

8B.  Who discovered the electron?

ANSWER: J. J. _Thomson_

9A.  What position does Harry Potter play on the Gryffindor House quidditch team?

answer: _Seeker_

9B.  What colorful nickname was given to the composer of "The Four Seasons," Antonio Vivaldi, that also reflected his status as a member of the clergy?

ANSWER:  "The _Red Priest_"

10A.  What dynasty of China ruled between 618 and 907 AD?

answer: _Tang_

10B.  In the novel _Anna Karenina_, what is the name of the man Anna falls in love with at the ball and for whom she deserts her husband and son?

ANSWER: Count _ Vronsky _

Third period, 15 toss-ups
1.  THIS IS A COMPUTATION QUESTION. What is the hydroxide concentration of a solution with a pH of 5?

ANSWER: _1 times 10 to the negative 9_

2.  If you suffer from auroraphobia, of what astronomical event are you afraid?

ANSWER: _ Northern or Southern Lights _ (accept either one; also accept either Aurora or Australis Borealis)

3.  This Northeastern city's decline after World War II was accelerated by race riots in July 1967. In 1975, Harper's Magazine wrote that it "stands without serious challenge as the worst city of all" in its comparison of American cities. It is home to the New Jersey Performing Arts Center and the New Jersey Institute of Technology and its population decline has been stemmed in the 1990s. What is this city located ten miles to the west of New York City? 

answer: _Newark_, New Jersey

4.  TWO ANSWERS REQUIRED. These two common Spanish verbs have the same forms in the preterite. What are these two verbs that mean "to go" and "to be"?

ANSWER: _ir_ [EER] and _ser_ [SAIR]

5.  Born in Queens, one of the first movies for which he created the score was 1969's "The Reivers".  "Home Alone," "Superman," and "Jaws" are among the other credits of what former Boston Pops conductor, best known for composing the music to the Indiana Jones and Star Wars trilogies?

ANSWER:  John T. _Williams_

6.  They have masses between the Chandrasekhar and Oppenheimer-Volkoff limits and are formed through inverse beta decay.  Name this type of astronomical object named after a subatomic particle.

ANSWER: _neutron star_s

7.  What chemical element's symbol is Zr?

answer: _zirconium_

8.  His first wife, who no one remembers, was Aurelia Tizon, who died of cancer in 1938. His third wife, Isabel, who is a little better known, became President after his 1974 death but was ousted in 1975. This politician is best known for his second wife, the former Eva Duarte. Who is this politician that was President of Argentina from 1946 to 1955? 

answer: Juan _Peron_

9.  Sean O'Keefe, NASA's director, probably was not yelling "KHAAAAAAN!" on September 8. Its attempt to collect solar wind succeeded, and it was the first sample-collecting probe to return from beyond the Moon. Some partial data recovery may be possible of -- what NASA probe that crashed after its parachute failed to open?

answer: _Genesis_

10.  An aging father decides to divide his land among his three daughters. The hypocritical older two make grand pronouncements of their love for their father and are rewarded; the youngest, who truly loves him, refuses to make an insincere speech to prove her love and is disinherited. This is the basic plot of what Shakespeare play?

ANSWER: _ _King Lear_ _ 

11.  THIS IS A COMPUTATION QUESTION. One added to two-thirds of a number is thirteen.  What is the number?

ANSWER: _18_

12.  The only touchdown for the losers of this game came on a pass caught by Curtis McClinton.  Elijah Pitts ran for two scores, while Willie Wood ran back an interception 50 yards.  Len Dawson was on the losing side of what 35-10 game where Bart Starr won MVP for the Packers, the first meeting between AFL and NFL champions?

ANSWER:  _Super Bowl I_

13.  He wrote _The Naval War of 1812_ in 1882 as well as _The Strenuous Life: Essays and Addresses_ and _The New Nationalism_. Who is this American who became the twenty-sixth President of the United States upon the death of William McKinley? 

ANSWER: _ Theodore Roosevelt _ (prompt on Roosevelt) 

14.  This disease destroys lung tissue by causing bronchioles to collapse. What is this disease most often found in heavy smokers?

ANSWER: _emphysema_

15.  In 714, seven Catholic bishops fleeing the Moors allegedly went to a land known as Antilia, where they established cities. This Christian legend was furthered by an Indian captive who told the Spanish of the existence of wealthy cities in what is now New Mexico, prompting Francisco Coronado to look. Coronado spent much of his life in a futile quest to find -- what legendary seven cities of gold?

answer: _Cibola_ [SEE-boh-lah]

Spare questions 
(Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  His most important contribution to the understanding of the atom was published in 1926. His theory, which developed  a mathematical description of the discrete standing waves that electrons must follow in their orbits around atomic nuclei, combined with Heisenberg's matrix mechanics theories, formed much of the foundation of quantum mechanics. Who is this Austrian physicist and Nobel laureate?

ANSWER: Erwin _ Schrodinger _ 

2.  This psychological state is similar to empathy, and compassion is a type of it. In addition to just recognizing the emotions of another person, which is empathy, someone who is in this state is sharing the emotions of the other person. What is this condition that can refer to positive emotions, such as happiness, but usually refers to the sharing of grief or suffering?

answer: _sympathy_

3.  While a student at Oxford, he was influenced by William Godwin and later married Godwin's daughter. His first major poem was "Queen Mab," Name this Romantic poet who wrote "Adonais" (ad-uh-NAY-us) in memory of his friendship with John Keats and a number of odes, including "To a Skylark" and "Ode to the West Wind."

ANSWER: Percy Bysshe _  Shelley _

4.  THIS IS A COMPUTATION QUESTION. What is the product of the binomials 2x + 1 and 3x + 2?

answer: _6x squared plus 7x + 2_ 

5.  His first film cost only $28,000 to make; a documentary on the DVD to the film, entitled "Snowball Effect," cost $200,000.  Ten years later, he made the mistake of casting one of his regular actors' girlfriends in the movie "Jersey Girl," which flopped.  Name this director of "Chasing Amy" and "Clerks" who frequently appears as Silent Bob in his movies.

ANSWER:  _K_evin _Smith_ (prompt on "Clerks", if the answer is given during the first sentence) 

All questions ©2004 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

